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Drag and drop the two function formulas provided below close to the corresponding graph.

5
\
\
8
S— 0 o = o ——
in. !
[
. O
-5 2
0 1 2 3 4 5
T
J(z)=1log(x), a>1 flx) =log,(z), O<a<l
(o
—

Associate, using the empty boxes and the arrows in the figure, the function formulas provided below to the corresponding graph.

54 f/ﬁ(lf_ )(b’ 4




Associate, using the empty boxes, the function formulas provided below~to the corresponding graph.

o 1 2 3 4

Associate, using the empty boxes, the function formulas provided below to the corresponding graph.

WARNING: some of the labels do not correspond to any of the graphs.

f(x

dbhhona

2
1
= 0
o
2

f(x)
OS/H
fl(x)

f{x)
bbonsowd
f
°
o -

[r + 1 logy(x + 1) log, jp(z + 1) ole| /3




. D2 & XD2 =4

Given the function

compute its domain [) and select the correct answers.

Select one or more:

a.D = [0, 4+00)
b.D = [1, 400)
JeD=R\(-00,0)
d.D = (1,4+00)

JleD=R\(-o00,1]

1D =R\ (—00,0]
9.D = (0, +00)

I hD={zeR|z > 1}
LD = {z e R|z > 1}
iD=R\(-00,1)

kD= {z €R|z > 0}



o}, (la,gl(X))>°
& fuh(x)>2°:j_ & ly, (x)>9

f(x) = logy(log, (logy(z))) £ (X)> 2

| | A X >
compute its domain [) and select the correct answers.

D= (2/ +® )
Select one or more:

a.D = (2, 400)

b.D = {z € R|z > 1}
c.D =R\ (—o00,0]
dD =R\ (-0o0,2],
e.D={zreRlx>2}"
tD =R\ (-00,1)
9.D = {z € R|z > 0}

Given the function

h.D = (0, +00)
i. D = [2, 400)
. D = (2, 400)

k.D =R\ (—o0,0)



Find the solutions of the equation
) L»AL[H'XZ) 2
logy(1+27) =2 & 2 =

2
e
Select the correct answer. Incorrect answers will be

penalised.

Select one or more:

a{r € Rlx > —vV3and z < \/5}

c. There are no solutions.

dz =1(

e.x € (—1,1)
fx =200
g.x ==+3
hR\ (—oc,0)

Ly =43

i{reRlz < -1lorz> -1}



Find the solutions of the inequality
x50 & X1

logy(2* = 1) > 0
More than one answer is correct. Incorrect answers will be |

Select one or more:

T az € (—00, V2| U[V?2,+00)
bz eR\(-1,1)

“eR\ (—00,0)

1 d.[2, +00)

e.x € (—o0, 1] J[1,+20)
R\ (—o00,1)

Jof{z eR|xr < —v2o0r z > V2}
7 hR\ (—00,0]

Tz eR\ (-v2,V2)
i{reRjz < ~lorzxz>1}
~ k{z € R|z > 0}



Find the solutions of the inequality

logs(1 — %) é@

More than one answer is correct. Incorrect answers will be penalised.

Select one or more:
a.x € (—1,1)
b.[2, 400)
cVr e R
dz € (—v2,V?2)
e.R\ (—o0,0]
R\ (—o0,1)
g {zr € Rlz > 1}
hz eR\ {(—00,1]U[1,+00)}
{zeR|-1<z<1}.
iR\ (—00,0)
k{r eR| - V2 <z < V2}



Find the solutions of the inequality

\{x\in\mathbb{R}|x\leg -1 \text{ or } x\geqg -1\}

log,(3 — %) < 1

More than one answer is correct. Incorrect answers will be penalised.

Select one or more:
a.x € (—oo,—1)J(1, )
b{r €R|-V3<z<-lorl<z<3}
ez € [~V3,-1]UlL, V3]
4z € (~V3,-1)UlL, V3)
e{r €Rlz < —-1lorz > -1}
f{reR|-V3<z<-lor1<z<V3}
g{reRlz<-1lorz> -1}
h.z € (—oo, —1] J[1, o)
i{z € Rz > —v/3 and = < V/3}
iR\ (—o0,0)
kR \ (—o0, 0]

H
K[&\ =9

) 2(0):2:2 _

,k’L
2 22 ¥xeR



For which value of ¥ the following equality?

/ 21+J:2 !_ y

has at least one solutions in x ?

Select the correct answer.

Qg = [+ 2_,:@)
=2

1y <0 #0): 9

2.y < —10Ry > 1

3.y > 2

4.y € [-2,2]

5.y > 0 - ?;_—3-———

lo

Compute the two solutions X1 and T2 of the following equation
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